7-4 Similarity in Right Triangles
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ZC is a right angle
CD is an altitude to AB
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/ (The whole triangle)
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If the altitude is drawn to the hypotenuse of a right triangle, then the two triangles that are formed
are each similar to the large triangle as well as similar to each other. Let's see how this is possible...

Write the similarity statement and raw the triangles in corresponding order.

Al ~ A2 Al ~ A3 A2 ~ A3
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Refer to the diagram above to complete each proportion.
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Solve for x.
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4. AABC is a right triangle. ZC is a right angle and altitude CDis drawn to AB. If 8 =6 and
DB = 24

a. Find CD ‘l b. Find AC
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5. AABC is a right triangle. ZC is a right angle and altitude CDis drawn to AB. If CD =12 and
AD exceeds DB by 7.

a. Find DB b. Find AD
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